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THRETZI—K ET4 TR 0 1 2 3
10 HHHT 140 3 0 4 0
20 & tHT 146 3 1 2 5
30 AT 282 2 5 1 0
40 LRHET 116 1 1 1 0
50 AET—TH 298 2 0 1 0
60 KET=TH 163 0 0 2 1
70 RET=TH 294 7 3 3 8
80 ¥AT IR AT 34 0 0 0 0
90 FENIIRET 202 2 4 6 2

100 At FLET 114 1 2 1 1
110 2T HT 1025 21 25 25 3
120 ¥A;TAHET 178 3 4 3 5
130 HE M7 339 4 5 9 3
140 B [EET 13 0 0 0 1
150 4&F #rHET 317 13 14 12 7
9999 R IGHX &t 3661 62 64 70 6
510 AETEUT B 390 6 5 7 3
520 tEEEHT 111 4 1 9 4
530 /J\tEHT 232 2 1 2 5
540 15 EHT 403 2 3 2 5
550 FrithET 310 4 4 4 5
560 = ZEfT 112 1 1 0 0
570 EEHRT 64 1 0 0 3
580 HrhHET 116 2 3 3 1
590 #EHT 68 0 0 1 0
600 ZERHAT 557 13 8 13 1
610 J&HT 163 1 4 1 3
620 FAET—TH 2 0 0 0 0
9999 J/\ KXt 2528 36 30 42 0
1010 R HHT 153 4 0 4 3
1020 Lt B HET 267 10 11 10 0
1030 th FrHT 236 6 6 7 6
1040 75 FHT 423 9 12 11 4
1050 & HHET 491 11 18 9 4
1060 F_EHT 384 5 4 7 5
1070 T4 [RHET 537 12 17 15 5
1080 & HHET 312 11 14 12 7
1090 BiEHT 557 8 10 11 9
1100 £ BEHT 450 9 8 8 3
1110 {RIEMT 161 6 2 2 3
1120 f21E JTHT 95 1 0 0 0
1130 +&:H1 32 0 1 0 0
1140 FeJRHET 1 1 0 0 0
1150 #FRET—T B 193 5 10 3 4
1160 #/EET=TH 246 0 4 2 2
1170 ;F/KHET 193 2 5 4 5
1180 BEALHET 215 1 3 3 4
1190 #&FAHT 172 3 5 0 4
1200 XFHET—TH 121 1 1 0 0
1210 XFHEIZTH 169 5 5 3 2
1220 ¥rHET 135 0 4 2 5
1230 #xHET 164 3 0 0 2
1240 ZEHT 148 2 2 2 2
1250 TEEIET 162 2 1 4 4
1260 fEH & 61 1 0 0 0
1270 E=EHT 156 2 1 2 0
1280 FRAHET 144 1 3 4 1
1290 $RHET 188 3 1 1 3
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THRETZ0—F HT 4 R 0 1 2 3 4 5 6 7 8 9
1300 4 ZEHT 138 0 5 3 1 4 1 1 3 1 2
1310 R/LHET 69 2 0 2 1 0 3 1 0 3 0
9999 KHEMRX &t 6783 126 153 131 129 115 146 130 128 133 126
1510 }EHD L BT 644 4 10 10 16 13 21 19 23 18 15
1520 HEH T ET 617 7 10 13 11 8 13 16 12 10 14
1530 HEHNTHET 321 8 5 6 5 3 5 6 4 2 5
1540 K{EFHT 499 11 7 9 6 9 13 5 3 7 7
9999 HEMNIE X &t 2081 30 32 38 38 33 52 46 42 371 41
2010 EEERHAT 180 6 4 6 5 4 6 5 4 2 3
2020 % E a7 275 9 12 5 8 5 5 3 4 5 5
2030 L0FT 21 0 1 0 0 0 1 0 0 0 2
2040 ;ABET—T H 194 2 4 1 2 0 4 2 1 5 3
2050 ;BT —T H 195 1 1 6 2 4 3 3 1 4 1
2060 5T 35 0 0 1 0 0 1 1 4 3 1
2070 FxET—TH 239 1 2 1 7 3 1 7 2 4 3
2080 FRETZTH 192 3 6 3 3 2 4 1 3 3 1
2090 i HT 1664 22 24 26 36 29 36 31 51 28 35
2100 HdiLHET 206 9 11 4 5 5 7 12 4 6 3
2110 HEMIEEBT—TH 181 5 2 0 5 3 1 3 2 6 6
2120 HEHIEFRBTZ=TH 212 5 7 6 5 6 6 4 3 8 4
9999 £ ERXEt 3594 63 74 59 78 61 75 72 79 74 67
2510 FUEHET 1762 45 50 39 53 55 51 70 58 51 64
2520 sk EeHT 996 36 37 35 25 30 36 30 35 31 30
2530 & /NRHET 296 6 4 4 7 2 6 8 10 6 8
2540 FHi5HT 414 6 9 7 6 6 9 3 3 5 7
2550 jHHT 185 2 4 5 5 3 1 3 2 4 2
2560 = ST 861 25 18 26 30 21 27 23 14 22 23
2570 K EHT 87 0 3 3 0 1 3 1 4 3 1
9999 MERXET 4601 120 125 119 126 118 133 138 126 122 135
3010 K#HT 863 16 13 13 15 23 24 14 18 22 19
3020 L IHT 817 19 21 15 20 11 23 20 17 17 18
3030 L EFHT 660 14 16 13 14 19 14 17 24 20 18
3040 T FE LHT 144 1 0 2 2 3 1 2 3 1 0
3050 R AT 1570 40 30 37 39 43 42 48 31 33 42
3060 THES AT 458 6 7 8 3 5 7 8 2 9 7
3070 THEFEHT 377 7 7 5 7 6 3 5 5 8 7
3080 HhHT 332 10 8 13 8 9 12 7 11 13 9
3090 HHEHT 333 8 6 9 16 6 11 13 10 10 7
3100 H R FEAT 488 19 8 15 10 5 11 9 9 6 8
3110 EHAILHET 391 7 12 9 6 6 11 5 4 1 4
9999 /\FE X &t 6433 147 128 139 140 136 159 148 134 150 139
3510 &R /T 176 0 2 3 3 1 2 0 1 2 3
3520 2[R ARHT 331 6 5 4 4 5 3 7 3 1 7
3530 E[RTHT 777 12 24 14 12 19 8 20 22 11 16
3540 & R AKHT 312 3 6 11 5 10 5 5 8 2 8
3550 A EFHT 691 15 13 20 13 15 10 10 16 11 10
3560 &= FERAT 268 4 5 8 3 7 4 3 6 6 4
3570 & T Fafr 766 22 12 8 15 3 11 18 10 7 9
3580 FLLIFTHT 476 6 8 11 6 8 10 7 7 8 5
3590 jEHT 8 0 0 0 0 0 0 0 0 0 0
9999 = HKXET 3805 68 75 79 61 68 53 70 73 48 62
4010 411 NET 303 2 4 9 3 5 5 6 2 5 7
4020 {EESHT 66 0 0 1 0 1 2 1 2 1 1
4030 ZHT 189 8 2 8 2 3 5 4 5 2 7
4040 S HEAHT 149 6 2 5 1 6 3 5 4 4 4
4050 7K SHT 346 7 8 5 5 7 9 5 8 5 9
4060 E=Z HAT 267 10 6 12 11 7 18 6 5 9 8
4070 dt[RHET 140 3 3 3 8 0 2 2 0 1 1
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6510 B &= A#HGAET 21
6520 HZ= A KITHT 158
6530 B E A FHHET 101
6540 HEALLTHT 167
6550 B &AM 2 RHET 93
6560 HZEAEILHT 153
6570 B E A RIHET 183

6580 HZEAERT 102
6590 HZEARHAT 62
6600 HZEAGHT 116
6610 HEA LFGHET 54
6620 BHZE A FGHET 52
6630 HEA T FaHT 123
6640 B EA EitiHlT 41
6650 HZASET 2
6660 HZAERHT 52
9999 HEARKKET 1480 1 1 2
7010 Z B MO ET 156
7020 — RAHT 296
7030 — R FR#AHT 104

7040 — R T KEFHET 201
7050 = R B7 HIAHET 88
9999 — R#xXEt 845
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fTEETZ2a—F BT4 R 0 1 2 3
4080 =;TI;HAMT 165 6 5 5 12
4090 R e MT 264 4 7 3 5
4100 FFFOMET 96 1 2 1 0
4110 JbFFOET 107 3 3 2 3
9999 2RI X et 2092 50 2 54 50
4510 EREE—ZEHT 699 6 9 13 14
4520 EREE — FEET 127 3 2 1 2
4530 AREE=ZEHT 110 3 4 2 2
4540 EREEPYFEHT 113 1 2 0 0
4550 ERZEFH FKHT 86 4 1 1 0
4560 EREENFEHET 37 0 0 1 1
4570 EREE-EFHET 112 1 2 0 2
4580 EREE)\FEHT 58 3 1 2 0
4590 AR A FEHET 91 1 2 6 4
4600 AR EE+FET 121 2 3 1 1
4610 EREE+—ZBHT 158 3 1 2 3
4620 EREE+ — FKHET 222 2 4 8 3
9999 EREERIX 5T 1934 29 1 37 32
5010 BA#NH HERT 145 5 1 3 3
5020 RBFNBAEAET 132 5 4 2 0
5030 FRFNE{—ET 140 1 5 3 3
9999 RBFNIX &t 417 1 0 8 6
5510 wh R HT 229 2 2 3 1
5520 = HhET 529 8 7 13 16
5530 75 = T 442 7 7 8 6
5540 T EEHT 237 1 2 3 5
5550 EFHT 85 0 0 0 2
9999 =R X 5t 1522 18 8 27 30
6010 [E]ET/NER 83 0 4 0 4
6020 [z ET A 87 2 0 0 0
6030 FEIET &I 83 0 3 0 0
6040 ERZEFFMET 194 6 4 5 5
6050 JI|EETER 139 0 1 0 0
6060 )| HETTY 94 0 1 2 4
9999 FEERXET 680 8 3 7 13
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8150 IRAHTEF XK L 85
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9999 F TRt 2502
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9240 $EHMTIEE 219
9250 SEETALHrith 338
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9330 EFZHT/INE 129
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9420 RHETHHE 227
9430 RETER 146
9440 RETAEF 18
9450 RETHE[R 24

9460 SRETIZHE 29

—
O 0 o0OO0O 000 —~-0—- == —-000000—~000—=—-00

NN
A~ b

65

j—y
o —

O —- 0O = =0 WW—-=DhOOTOOIRL,INWN D

-y

POO 000 —-~00—-—- 0000000 —=- =00 == =0 =

10

10
142

oOococoMNMNMNWOA~—-=0O0

—_ [ g— —_ DN N —_
NWNOONOOO—-"NMNNINNPAPRARPOOO L —-00 =" —-000NODODO0ODODO0ODODO 00 —=-0—-0DMN

12

14
132

OO0 O0O—=-=00O0Wh,~,—-=pr~O

NODWO—--NOOO—-0ONOWOOOO—-0O00OOOOON—-0O W

146

— OO0 O —=00DUoNdNWW

'\)'\) — —
DO WO OWOWO—-NO—=-—==00000000COPR~OCONNMNNO

N — = (=2}
NOI—=00—=JJ

OCOO0CO—-PhArPAPAINDPAA—-0—O0ONdDPOWOo

— —
ONOOO—=-NO—OONONOOOOOOOOOOOOMNMNO LU

N W
wW —

66

117

— OO0 O0OwWuUoIoO MO OCTW

PO OO O —_OON—-_OONOOOOOOOOOO—-=-NOOO

18

W —

OCOO0O—0O00LO~NNNDPAAPMPOOOOOOUOIO =W

AN O -2 -0 -~ 00—~ 00 PMODOODOOOOPMODO—-0OMNMNON

10
124

S

— OO —=hoOOJONO

NOoOO WO O0OO0O L0000 —-00000ONODOO =~ -0 0

11
136

OO0 O - 000 OVCWWOoOrAN

m—kw — —
OSSO PALANNOW—-A—==DNOWOOO 00 —-000—000CW—=0©

—_
NoOoOoOp,~,wWw—=JO =

a—y —_
[6) IS BN I )

111

OCOoOONMNMNWOSOHTOWOSE—-NO



XH24. 7 F REREBIREZD —ERIEIZKYSNEANEZESHT-AO

(H26.9.30IR7E]). 1TERET 4 Al E &R A O (&)

fTEETZ2a—F BT4 R
9470 RETER 9
9480 RETHER 51
9999 RXEt 822

99999 &t 54180

0 1 2 3
0 0 0 0
0 2 0 1

8 7 10 M
991 1017 1056 1091

4 5 6 7 8 9
0 0 0 0 0 0
0 1 1 2 0 2
5 10 10 16 7 13
989 1101 1116 1062 1060 1072



XH24. 7 F REREBIREZD —ERIEIZKYSNEANEZESHT-AO
(H26.9.30IR7E]). 1TERET 4 Al E &R A O (&)

THRETZI—K ET4 1
10 HHET
20 & T
30 @MY
40 LRHET
50 AET—T B
60 AXET_TH
70 RET=TH
80 ¥AT IR AT
90 FENIIRET
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150 ¥ FFHET
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510 AETHT B
520 WP EEMT
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550 FrithET
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600 ZERHAT
610 J&HT
620 FEET—TH
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1010 FEHT
1020 £ F&HT
1030 th 5 HET
1040 74 FHET
1050 = FHHET
1060 F_EHT
1070 47 ET
1080 & HHET
1090 AEHRT
1100 L HEHT
1110 {RIEMT
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1150 #FRET—T B
1160 F/RET—T B
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1180 BEALHET
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1220 ZHET
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1270 EEHT
1280 FRAHET
1290 $RHET

—_
—_
—_—
—_
—_—
—_
—_
—_—
—_

-y
—_
—_

—_
—_

N
w
w
N
(J'I(J'IOO—‘-O—‘-U'lO—‘-l\)—‘-O\IC»)U'IO—“U'IO@@BI\D—L—“O'I—‘U'INOOAU'I
w
w
w
N

—_

(2]
~
©
©
©

P WO -~ JIJNOPRPRODOOWPRARONJWOOWOO WO = —=W—OWOWOo
~

—_
—_
-y
—_
—_
—_
—_

-y
—_

—y
—y
ju—y
iy
ju—y
iy
N
iy
ju—y

N
CQCOWUOT A, —-OONWO-NONNYNWWWOOOY —-—=DhO—=-==0WW-—-=MONO

[$)]
NNNOITONNOIOOO - 0ONNOO—-STNPOCOPPODAANDDOWODOWOIW—=ONMNOWDN

[$)] ~
O —- O NOOO—-NOWR—-=LOOOONMNOOOMNDIPPOOP,L,POWN—=-=OCI~hC®

[$] o —
CTOOINODO—=-N—=-—= OCONWOWN—-"WDHhOW—-ONWNONWWD
[$)] ©
[=)]
1= 0 WOOW—-ONOWUTIOOAIGTTOA,TTWOINDD—-0—=-WO -0 WO

(4]
O WO WANPPODWW—-WON—-PMAPMPOW—=0LONODRMEL~LA=N—_OO—=O—==DNNJ

al

[$)]
N O WOOOOWOOOMNOOMNODMOGCITO—=NINNONMNNMON—OOOO - WO

ju—y
o
Y
N

N
—_
—_
w w
—_
NN
—_
—_ W

ju—y

ju—y
N
ju—y
N
Y
N

ju—y
w

NW—=O—=DNNOOWWNMNMNNWPAROOMNMNOONJNOWOBOOOONOON—OON OO~ OOODRAWNNO—=W—=0C1lWO =
—
N
—_
()]

—_ = —_
NO—=O—=DMNNON—-=-N,AP-W—-—= 00 —-0N0WOO®
—_ =

WN—=-ONPIANOWW—=OINPWO—-0W-—=W

—_
WN—- O -0 W—=N—-WWwaphwooOoOoO 4o

—_ = —_ =
NWWOW—=-—=—=0W—-WUIoohwoOoOoOOoO—~-J4—==h~hO OO
WNNOWOOGIOGITO NN PMNOO—=W

—_
NPDWO—=—OPRNOBRRNIEANOOW—=ONGOGON

—_ N =
WNOTOTOOT =R = W—=NWAOPpWO—-O0OMNIJOGOIW

—_ —_ —_ =
AW OMNOOSODONPAPPRPROOOPLPOCOO—LO0O00WJONJWO
W= BN PAEAN—=W=DPNWI—-O—=0O0—=NPIMO



XH24. 7 F REREBIREZD —ERIEIZKYSNEANEZESHT-AO
(H26.9.30IR7E]). 1TERET 4 Al E &R A O (&)

THETZO—K B4 10 11 12 13 14 15 16 17 18 19
1300 % ZEHT 2 0 4 1 3 1 2 3 2 2
1310 R/LHET 0 1 1 1 3 0 3 5 1 2
9999 KHEMRX &t 118 133 131 133 132 153 143 154 138 152
1510 }EHD L BT 15 21 12 21 13 12 14 19 15 19

1520 HEH T ET 9 8 13 18 17 16 16 17 19 11
1530 HEHNTHET 8 2 4 6 4 3 7 3 11 6
1540 K{EFHT 6 9 13 14 11 8 21 14 8 17
9999 HEMNIE X &t 38 40 42 59 45 39 58 53 53 53
2010 EEERHAT 1 2 3 1 3 1 2 4 4 1
2020 £ &7 7 4 1 7 5 8 7 6 6 10
2030 L0FT 0 0 1 1 0 0 0 1 0 1
2040 ;ET—TH 7 1 2 5 6 5 5 4 4 2
2050 ;BT —T H 2 7 2 6 1 6 5 5 5 6
2060 5T 1 2 0 1 1 1 2 0 1 0
2070 FxET—TH 6 2 4 2 7 7 9 11 5 2
2080 FRETZTH 5 3 3 7 2 1 4 2 5 2
2090 TigHT 39 40 35 46 35 34 29 34 35 21
2100 HdiLHET 7 5 8 6 4 9 7 2 5 4
2110 HEHIFRET—T B 4 9 5 7 1 6 10 5 3 8
2120 HEHIFRBET =T B 4 4 3 4 7 6 3 3 6 10
9999 £ ERXEt 83 79 67 93 72 84 83 77 19 67
2510 FUEHET 59 53 53 43 39 54 55 50 44 33
2520 Sk EEHET 36 42 36 40 40 31 28 38 22 34
2530 & /NFRET 10 5 5 7 13 7 12 7 14 8
2540 Fi5HET 9 5 7 8 3 7 4 7 8 10
2550 jHHT 2 3 4 1 4 3 4 5 2 7
2560 & &7 17 21 24 15 19 25 25 21 22 19
2570 KEH/T 1 0 2 1 2 0 2 0 0 0
9999 MERXET 134 129 131 115 120 127 130 128 112 111
3010 K#HT 24 26 19 25 18 24 16 20 20 20
3020 LI 19 22 18 23 15 24 30 21 21 19
3030 - E7HT 16 18 22 31 26 29 27 29 18 21
3040 T FE LHT 3 2 4 2 2 6 3 1 5 3
3050 R AT 30 47 32 37 40 44 45 43 39 40
3060 HHESTHT 5 1 14 10 14 11 6 8 6 13
3070 tHEAERT 6 6 7 4 7 9 14 12 10 11
3080 HhHT 8 6 7 11 11 6 8 8 9 4
3090 HHEHT 9 9 9 10 12 7 10 11 6 6
3100 HHFEHT 7 9 7 13 9 10 14 10 9 14
3110 EHAILHET 5 8 3 9 8 12 6 8 8 10
9999 /\ FEBRXEt 132 164 142 175 162 182 179 171 151 161
3510 2R LHT 4 1 3 5 3 5 5 8 2 5
3520 2[R ARHT 7 4 8 6 6 7 8 10 12 8
3530 E[RTHT 19 19 13 24 10 25 25 20 25 20
3540 & R AKHT 9 7 12 11 11 11 9 9 10 11
3550 A EFHT 8 15 9 15 10 15 14 17 22 16
3560 &= FERAT 4 4 1 5 5 7 4 7 2 5
3570 & T Fafr 15 13 13 12 13 15 18 17 16 21
3580 FLLIFTHT 7 5 5 7 7 8 12 1 13 1
3590 jEHT 0 0 0 0 0 0 0 0 0 0
9999 = HKXET 73 68 64 8 65 93 95 99 102 97
4010 E4)I| QET 7 7 10 2 6 9 10 6 7 3
4020 {EESHT 1 3 1 1 5 1 2 5 0 5
4030 1ZHT 3 4 6 7 7 10 9 4 10 4
4040 S HEAHT 4 9 1 3 5 4 7 4 7 6
4050 7K EHT 10 12 9 11 7 9 9 14 6 1
4060 EZ & HHAT 11 8 10 9 7 7 5 6 8 3
4070 dt[RHET 2 3 2 5 4 4 3 6 4 3
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2050 ;BT —T H 7 4 8 6 13 5 4 14 5 7
2060 5T 2 2 0 1 2 4 3 2 2 1
2070 FxET—TH 7 4 11 10 7 9 7 9 7 2
2080 FRETZTH 6 5 7 5 8 10 12 5 7 6
2090 i HT 50 65 68 56 82 71 71 72 40 37
2100 HdiLHET 6 9 7 5 6 13 5 10 6 2
2110 HEHIFRET—T B 7 13 9 13 6 6 10 11 6 5
2120 HEHIFRBET =T B 9 9 7 13 10 12 6 15 6 7
9999 £ ERXEt 117 123 139 127 154 159 146 166 89 85
2510 FUEHET 52 53 57 52 66 75 81 65 38 38
2520 sKAEHT 4 28 40 45 41 43 39 26 25 21
2530 & /NRHET 13 16 14 8 9 14 13 12 6 3
2540 FHi5HT 11 21 24 14 15 23 15 25 10 13
2550 jHHT 6 7 10 10 6 8 8 7 7 7
2560 & &7 27 27 32 27 38 49 34 41 24 19
2570 K EHT 2 4 3 4 5 9 6 4 4 2
9999 MERXET 155 156 180 160 180 221 196 180 114 103
3010 KATHT 27 23 43 30 41 36 36 36 28 28
3020 LI 22 31 33 25 23 39 28 41 20 13
3030 L EFHT 20 19 25 19 18 26 21 22 10 20
3040 HE LET 6 7 8 1 3 6 6 8 6 1
3050 R AT 58 51 53 60 69 72 57 62 25 36
3060 THES AT 11 19 13 17 25 14 14 22 8 18
3070 tHEAERT 12 17 16 22 22 19 12 14 11 14
3080 HhHT 10 8 9 5 20 17 9 9 5 4
3090 HHEHT 2 8 11 19 9 15 8 7 6 7
3100 H R FEAT 15 19 11 13 11 15 10 8 7 13
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9999 /\ FEBRXEt 195 218 237 227 258 278 221 246 129 166
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4040 S HEAHT 6 12 9 4 4 6 6 13 3 2
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4060 E=Z HAT 10 12 9 10 5 13 7 16 7 9
4070 dt[RHET 3 3 5 5 3 8 9 11 2 2
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XH24. 7 F REREBIREZD —ERIEIZKYSNEANEZESHT-AO
(H26.9.30IR7E]). 1TERET 4 Al E &R A O (&)

THRETZI—K ET4 60 61 62 63 64 65 66 67 68 69
8011 IRAHETFGHERLY 3 3 3 4 5 4 6 2 0 0
8012 IRAETFHERA 4 6 11 6 5 5 4 3 1 6
8013 IR AHTFE AR 3 2 3 8 5 9 3 5 7 2
8021 RAHTZE/KLY 1 4 6 4 8 6 7 6 1 3
8022 IRAHETIEKA 0 0 0 0 0 0 0 0 0 0
8023 R AHETIEKIE 0 2 0 0 0 0 0 0 1 2
8031 JAHBTH ALY 12 4 5 8 12 8 7 13 3 3
8032 IRAHETH A A 0 0 0 1 0 3 0 0 1 0
8033 IRAHBTH AL 2 1 0 1 2 1 0 3 1 0
8041 R AHTHLIFL 1 4 3 2 4 5 4 7 1 1
8042 IR AHTELIRA 3 1 0 1 3 2 1 2 0 2
8043 R AHT LT & 2 0 0 1 0 5 0 2 1 0
8044 IR AHTHGIFIZ 1 0 1 1 1 0 2 3 1 0
8045 IR AHTELIFIF 2 0 3 1 3 1 1 2 2 1
8050 IRAHTIRA 7 4 9 5 4 6 5 7 6 3
8060 R AHTFTHA 3 2 4 10 5 11 8 3 0 0
8070 RAMBTER 7 6 14 5 10 6 4 11 4 2
8080 IR AHT &k 3 1 3 4 3 1 0 3 1 2
8090 I AHTHEE 2 1 4 3 2 2 0 1 2 0
8100 JRAHETH /IR 0 2 1 1 0 1 2 1 0 0
8110 I AHT)II 55k 1 0 6 2 1 1 3 2 0 1
8120 IR AHTEEM: 8 2 1 3 6 4 3 3 2 5
8130 YRAHTH L 2 4 4 1 3 2 4 5 1 3
8140 IRAHTEFRT 9 6 4 6 7 7 6 1 3 3
8150 IRAHTEF XK L 2 6 8 8 5 10 6 3 1 1
9999 AKX EH 78 61 93 86 94 100 76 88 40 40
9010 FTHTAKZEH 19 16 22 23 27 23 25 19 10 21
9020 FTHTHE E AL 9 18 18 13 17 20 16 16 5 13
9030 FTHT#H&H 30 38 32 30 42 31 40 23 16 21
9040 FTHTHEEH 41 38 47 41 38 50 53 43 23 37
9999 FTHREXEH 99 110 119 107 124 124 134 101 54 92
9110 SERT T HIE 12 8 23 22 19 21 18 15 17 24
9120 $RETH L 10 6 10 8 16 10 11 8 4 9
9130 RETH E 7 2 4 6 5 3 8 4 3 3
9140 SERT Tt 10 1 24 19 16 19 20 22 6 8
9150 $ERT L 45 11 22 15 15 18 24 18 19 14 12
9160 SRETEERT 22 20 29 23 18 29 29 27 19 23
9170 SERTNH 27 21 26 28 32 25 45 36 171 27
9180 #RHETEE 14 22 29 16 17 30 30 20 20 20
9190 $ERTZ A 12 5 7 9 10 8 14 8 3 3
9200 $=HT U 8 1 10 9 14 13 7 6 6 5
9210 SERT=H 12 13 15 14 20 14 14 5 7 7
9220 $RHTIEH 14 14 15 21 18 20 14 20 7 9
9230 SEHET B M 21 30 3 19 30 37 22 25 13 13
9240 $RHATIEE 10 11 8 5 11 13 7 9 4 13
9250 FEETALFrith 13 25 20 11 16 11 23 15 8 8
9999 FERXET 203 211 269 225 260 277 280 239 148 184
9310 EFFHTAR 13 8 7 9 6 12 7 12 4 6
9320 H[5HETIL 6 8 10 6 17 11 11 11 9 6
9330 H[GHET/NAE 6 4 13 1 5 6 2 2 6 7
9340 E[5HTE 17 15 9 16 18 14 10 17 7 13
9999 RFRXEH 42 35 39 42 46 43 30 42 26 32
9410 RET T & 15 11 19 10 19 20 18 15 6 6
9420 RHETHHE 13 19 13 5 13 14 8 12 7 13
9430 RETER 5 7 5 5 9 14 3 13 7 3
9440 RETAEF 0 0 0 0 0 1 1 0 0 1
9450 RETHE[R 0 1 3 0 1 1 1 0 0 0
9460 RET{_HE 2 2 1 1 0 5 0 1 2 0
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XH24. 7 F REREBIREZD —ERIEIZKYSNEANEZESHT-AO
(H26.9.30IR7E]). 1TERET 4 Al E &R A O (&)

THRETZI—K ET4 70 71 72 73 14 715 76 71 18 19
1300 % ZEHT 4 3 3 6 5 3 1 3 5 8
1310 R/LHET 2 3 1 1 0 2 1 2 4 2
9999 XHEMZX &t 210 190 177 203 157 167 173 193 199 191
1510 }EHD L BT 23 28 24 23 19 13 24 16 13 19
1520 HEH T ET 28 23 21 18 18 18 16 18 15 16
1530 HEHNTHET 16 9 11 12 10 9 11 7 8 14
1540 K{EFHT 15 11 20 20 6 11 9 21 8 9
9999 HEMNIE X &t 82 71 76 73 53 51 60 62 44 58
2010 EEERHAT 4 6 4 3 4 7 6 6 7 3
2020 £ &7 8 5 5 6 5 7 3 0 1 4
2030 L0FT 0 2 0 0 1 0 0 1 0 0
2040 MET—T B 4 0 8 6 4 7 10 5 10 7
2050 ;BT —T H 8 5 8 3 5 5 9 5 4 11
2060 5T 0 4 0 3 0 1 0 2 1 0
2070 FxET—TH 6 7 13 6 7 6 9 9 11 7
2080 FRETZTH 9 4 4 3 7 4 8 7 4 6
2090 i HT 64 55 43 38 47 46 43 54 42 51
2100 HdiLHET 4 3 4 8 4 6 5 6 6 4
2110 HEHIFRET—T B 3 7 8 5 10 6 4 6 8 6
2120 HEHIFRBET =T B 7 7 12 0 6 4 3 2 3 3
9999 EERKXET 117 105 109 81 100 99 100 103 97 102
2510 FUEHET 59 42 55 53 36 42 34 30 46 42
2520 sKAEHT 20 23 16 13 14 13 23 12 18 16
2530 & /NRHET 7 3 8 9 9 9 8 7 6 5
2540 FHi5HT 15 15 21 21 16 12 13 13 15 7
2550 jHHT 8 7 5 7 5 12 3 5 11 6
2560 & &7 27 22 24 32 29 22 17 21 21 19
2570 K &MY 2 1 4 3 4 3 6 1 5 5
9999 MERXET 138 113 133 138 113 113 104 89 122 100
3010 KATHT 32 26 32 31 32 18 22 26 29 25
3020 L IHT 23 12 18 24 15 18 18 26 15 22
3030 L EFHT 15 21 17 21 13 15 14 13 9 14
3040 HE LET 7 7 6 3 3 5 5 6 5 4
3050 R AT 46 42 46 37 48 32 38 34 32 32
3060 THES AT 19 26 21 18 16 20 11 20 19 21
3070 tHEAERT 15 16 10 16 15 14 17 14 14 16
3080 HhHT 8 8 8 10 5 3 4 8 4 3
3090 HHEHT 9 12 10 6 8 7 8 13 11 6
3100 H R FEAT 7 7 8 7 6 4 4 6 8 5
3110 HpALHT 14 14 14 13 8 7 6 7 4 3
9999 /\ FEBRXEt 195 191 190 186 169 143 147 173 150 151
3510 £/R EHT 6 4 4 7 4 6 15 6 8 7
3520 2[R ARHT 12 13 14 9 6 8 14 12 5 9
3530 E[RTHT 20 18 17 24 14 13 14 26 17 21
3540 & R AKHT 7 13 13 18 11 8 11 5 10 10
3550 A EFHT 18 22 16 21 18 17 22 23 17 26
3560 &= FERAT 4 7 9 14 7 7 9 9 5 9
3570 & T Fafr 26 22 28 20 22 11 23 171 14 12
3580 FLLIFTHT 15 14 19 10 16 12 10 13 11 7
3590 jEHT 0 0 1 1 0 0 0 0 0 0
9999 = HKXET 117 113 121 124 98 82 118 111 87 101
4010 411 NET 15 7 8 15 11 10 7 12 12 20
4020 {EESHT 2 5 4 9 3 4 2 0 2 2
4030 1ZHT 4 7 9 7 4 5 3 6 11 8
4040 S HEAHT 3 7 7 5 7 9 6 2 9 5
4050 7K EHT 12 9 9 11 10 10 11 1 12 17
4060 E=Z HAT 9 8 9 9 5 9 2 8 6 4
4070 Jt[RHET 3 3 5 2 4 3 4 4 5 9
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